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4.2
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2.1

[2][2](3][4] - [2][3][][4]
2][3][2][4] - [3][a][4][2]

N =6

[1][2][3][4][5][6]

l

[3][4][][2][6] 2]

!

[s][z][e][s][2][4]

!

[e][3][2][5][4][4]

!

[2][5][4][6][2][3]

!

[4]6][2][2] 3] [5]

l
[1][2][3][4][5] 6]

K=6



2.2

/* genlist */

genlist(A,Z,[D:- A>Z,!).

genlist(A,Z,[AlList]):- Al is A+l,
genlist(Al,Z,List).

?- genlist(5,12,L).
L=1[5,6,7,8,9, 10, 11, 12]
Yes

/* append0 */
append0(Z = [] + 2).
appendO(TA]Z] = [AIX] + Y):- append0(Z = X + Y).

?- append0(L=[1,2]+[3.4])-
L =11, 2, 3, 4]
Yes

/* left */

left(A=[]+A,0):- I.

left(A=B+C,N):- N>0, N1 is N-1,1!,
left(A=B1+[X|C],N1),
append0(B=B1+[X1),
1

?- left([a,b,c,d,e]=A+B,3).
A=1]a, b, c]
B =[d, e]

Yes

/* mid */
mid(L=A+C+B,N,M):- left(L=A+D,N),
left(D=C+B,M).

?- mid([a,b,c,d,e,f]=A+C+B,2,2).

A = [a, b]

C = [c, d]

B =[e, f]
Yes



/*

gshf2(N,L):- length(N,NN),
P s NN-2,
mid(N=A+B+C,1,P),

?- gshf2([1,2,3,4,5,6,7,8].L).
L=1[2,3,4,5,6, 7, 1,8]

Yes

/* gshf2

yshf2(N,P):- length(N,NN),
genlist(1,NN,L),!

?- yshf2([1,2,3,4,5,6,7],L).
L=13,4,5,6,1,7,2]

Yes

/* yshf2

yshf4(L,N,A,W,K):- yshf2(L,M),

N1 is N-1,W1 is W+1,
NO is 3001-N,
write(M),nl,

2- yshf4a([1,2,3,4,5,6,7],8.[1,2.3,4,5,6,7],8,L).

[3.
[5.
[1,
[3.
[5.
[1,
[3.
[5.
[1,
[3.

41
61

g W kFk 0o Wk oWk

OO AN NO B DN

appendO(M=A+C),
append0(L=B+M),

gshf2(N,M),
left(M=A+B,1),

append0(P=B+A),!.

51

gshf2 */

yshf2 */

M==A -> write(W),K=W ;yshf4(M,N1,A,W1,K)).

61 1’ 7,

7

~No AN NOOBAADN

3’

P 01 WL 01w O

2

N N O AN NO D

2]
4]
6]
7]
2]
4]
6]
7]
2]
4]



[5. 7,1, 2, 3, 4, 6]
[1, 2, 3, 4,5, 6, 7]

19

L =19

Yes

bigyshf */

/*

bigyshf(N,K):- genlist(l,N,L),

yshf4(L,300,L,1,K),!.

2- bigyshf(7,L).

[3, 4, 5,6, 1, 7, 2]
[5, 6, 1, 7, 3, 2, 4]
[1, 7, 3, 2, 5, 4, 6]
[3, 2, 5, 4, 1, 6, 7]

[5, 4, 1, 6, 3, 7, 2]
[1, 6, 3, 7, 5, 2, 4]
[3, 7. 5, 2, 1, 4, 6]
[5, 2, 1, 4, 3, 6, 7]
[1, 4, 3, 6, 5, 7, 2]
[3, 6,5, 7, 1, 2, 4]
[5, 7. 1, 2, 3, 4, 6]
[1, 2, 3, 4, 5, 6, 7]

12

L =12

Yes



N=4
2

N=5
2

Yes

N=6
2

Yes

bigyshf(4,L).

[3, 1, 4, 2]
[4, 3, 2, 1]
[2, 4, 1, 3]
[1, 2, 3, 4]

bigyshf(5,L).

[3. 4, 1,
[1. 5, 3,
[3.
[1,
[3.
[1.

5
2
4
> 9,
2
4

N O AN

Wk, W

bigyshf(6,L).

[3, 4, 5,
[5. 1, 6,
[6.
[2.

A~ NN OO W

w = AN

2]
4]
5]
2]
4]
5]

2]
4]
1]
3]
5]
6]



N=4

30

1: N=4 30
N
4 (1342 [4] 4
5 (13)(2 45) [2,3] 6
6 (135624) 6] 6
7 (135)(2467) 13,4] 12
8 (13578246) 8] 8
9 (1357)(246809) [4,5] 20
10 (1357910246 8) [10] 10
11 (13579)(24681011) [5,6] 30
12 (1357911122468 10 1) [12] 12
13 (1357911)(24 681012 13) 6,7] 42
14 (1357911131424 6810 12) [14] 14
15 (135791113)(2468 10 12 14 15) [7,9] 56
16 (1357911131516 24 6 8 10 12 14) [16] 16
17 (135791113 15)(2 4 6 8 10 12 14 16 17) 8,9] 72
18 (1357911131517 1824 6 8 10 12 14 16) [18] 18
19 (1357911131517 )(2 4 6 8 10 12 14 16 18 19) [9,10] 90
20 (1357911131517 1920 2 4 6 8 10 12 14 16 18) [20] 20
21 (1357911131517 19)(2 4 6 8 10 12 14 16 18 20 21) [10,11] 110
22 (13579111315171921 22246 8 10 12 14 16 18 20) [22] 22
23 (1357911131517 19 21)(2 4 6 8 10 12 14 16 18 20 22 23) [11,12] 132
24 (13579111315171921 23242468 10 12 14 16 18 20 22) [24] 24
25 (1357911131517 1921 23)(2 4 6 8 10 12 14 16 18 20 22 24 25) [12,13] 156
26 (13579111315171921 2325262468 10 12 14 16 18 20 22 24 ) [26] 26
27 (1357911131517 19 21 23 25)(2 4 6 8 10 12 14 16 18 20 22 24 26 27) [13,14] 182
28| (13579111315171921232527282468 10 12 14 16 18 20 22 24 26) [28] 28
29 | (1357911131517 192123 2527)(24 6810 12 14 16 18 20 22 24 26 28 29) [14,15] 210
30 | (1357911131517 1921 23252729302 4 6 8 10 12 14 16 18 20 22 24 26 28) [30] 30




4.1

N ( ) N N-1

N=12 (135791112246 810)

N N
N =4

?- bigyshf(4,L).
[3. 1, 4, 2]
[4, 3, 2, 1]
[2, 4, 1, 3]
[1, 2, 3, 4]

1,2,3,---,2k—-1,2k 2,3,---,2k—1,1,2k
3,--+,2k—1,1,2k, 2

A 1
1 2 3 ... 2k—5 2k—4 2k—3 2k—2 2k—1 2k
5 ... 2k—3 2k—2 2k-—1 1 2k 2

(135 ---2k—32k246 --- 2k —2) (



4.2

N
N-1 N
N =13 (1357911)(246810 12 13)

1,2,3,---,2k — 1,2k, 2k +1 2,3,---,2k — 1,2k, 1,2k + 1
3,---,2k—-1,2k,1,2k + 1,2
A !
1 2 3 ... 2k—-4 2k—3 2k—2 2k-1 2k 2k +1
4 5 ... 2k-2 2k-1 2k 1 2k +1 2

(135---2k—1)(246 --- 2k — 2 2k 2k + 1)

N N =2K+1 K(K +1)
N=5

?- bigyshf(5,L).
[3, 4, 1, 5, 2]
[1, 5, 3, 2, 4]

[3, 2, 1, 4, 5]
[1, 4, 3, 5, 2]
[3, 5, 1, 2, 4]
[1, 2, 3, 4, 5]
6
L=6
N=5 (13)@45) 2x3 6 -

10



[ ]

N=2K-1 (K-1)K N =2K 2K N =2K+1
K(K +1)
K -1)+2K =K?2+K N =2K+1

11



5.2

NUMBER THEORY
LATEX2 ¢

George E.Andrews
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